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1 MUTE 8 OUTges
2 DISCem FM 9 RFem FM RF
3 NF 10 INamr AM
4 CONvoL 11 NC
5 OSCawm 12 INemr FM
6 AFC 13 GNDge
7 OSCruy 14 OUT e
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15 FM/AM SW FM/AM 22 AFC/AGC | AFCIAGC
16 IN A AM 23 OUTper
17 INEw FM 24 IN A
18 NC 25 Crip
19 METER 26 Ve
20 GNDjs 27 OUTar
21 AFC/AGC | AFC/IAGC 28 GNDp
3.1
, Tap=25C
Vee 14 V
Py 700 mw
Taro -10~60 C
Tag 50~ 125 C
3.2
Vee 2 75 V
3.3
’ a’nb:25°C) VCC: 6V
AM , V=0 35 | 100
|
“RTEM V=0 70 | 40| ™
Avi | Viy=40dBuV / 100MHz 32 39 46 dB
Vie= 90dBuV / 10.7MHz
Vor | (lkHz . 225KHz ) 39 | 5| B v
Vet Vo1 3dB 24 32 | dBuv
Vie=90dBuV / 10.7MHz .
THD: | iz L 75kHzZ ) 03 | 20 %
lgz | Vig=90dBuV / 10.7MHz 18 | 35 | 70 | mA
Av2 | Vip=60dBuV / 1660kHz 15 | 22 29 dB
455kHz (1kHz 30% )
Veen ’ -340Bm 14 20 27 dBuV
V= 85dBuV / 455kHz
Vb2 (1kHz . 30% ) 39 775 | 155 mv
V= 85dBuV / 455kHz
Is2 (1kHz . 30% ) 1.3 3.0 7.0 mA
Vo= 90dBuV / 1660kHz .
THD, (1kHz, 30% ), Vec=7.8V 06 | 20 %
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Ving= 60dBuV / 10.7MHz
Avi Vi =-30dBM, 1kHz 27 315 36 dB
Ving=60dBuV / 10.7MHz
THD3 | Viu=-20dBm/ 1kHz 0.3 25 %
50mw
Av4 Vin3: o, 8 15 22 dB
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S 150 4 H i n
% r lOpF;E +43pF ?lsog o F:E o
ArC RES
: CF1:AM 455kHz ; CF3:FM ; IFT-AM 455Hz ; OSC:AM
4.2
1 2 3 4 5 6
lcco A B A A A A F
lcco A B A A B A F
Avi A B A A B A N
Vb1 A A B A G
Veent A A B A G
THD, A A B A G
Ig1 A A B A H
Avo A A A A A A M
Veen2 A A A A A G
Vb2 A A A A A G
Ig2 A A A A A H
THD, A A B B A A G
Avz A A E
THD3 A B E
Ava A B E
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